
|𝑥 + 2| = 4

Solve graphically.

"+" case: "−" case: 

𝑦ଵ = +(𝑥 + 2)
𝑦ଵ = 𝑥 + 2

𝑦ଶ = −(𝑥 + 2)
𝑦ଶ = −𝑥 − 2

|𝑥 + 2| = 4

𝑦ଷ = 4

y=Left hand side (LHS) 

y=Right hand side (RHS)

𝑦ଵ = 𝑥 + 2
𝑦ଶ = −𝑥 − 2

𝑦ଷ = 4

"+" case: "−" case: 

+(𝑥 + 2) = 4
       𝑥 + 2 = 4
               𝑥 = 2

−(𝑥 + 2) = 4
    −𝑥 − 2 = 4
            −𝑥 = 6
                𝑥 = −6

|𝑥 + 2| = 4

Check your answer.

|𝑥 + 2| = 4
|2 + 2| = 4
        |4| = 4  

|−6 + 2| = 4
        |−4| = 4
        |−4| = 4

Solve algebraically

𝑦 = |𝑥 + 2|

𝑦 = 4

Left hand side (LHS) = Right hand side (RHS)
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